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JIE 7. K 4 oUT IN G |HC NET 7= 2 NEVAR= dA,
1 JIFFHE 46 40 | 86 12.0 74.0
2 VEHES 44 47 91 17.0 74.0
3 RIEE 43 43 86/ 10.0 76.0
4 RAEEFH 41 45 86 9.0 77.0
5 BLHEMEN 38 48 86 9.0 77.0
6 & H—H 52 49 101 24.0 77.0
7 NAECRER 45 42 87 9.0 78.0
8 W LiEE 44 43 | 87 8.0 79.0
9 HAFE= 45 45 90| 11.0 79.0
10 FARTH 43 46 89 9.0 80.0
11 [ A% 47 45 92 11.0 81.0
12 LAARERK 46 44 90 8.0 82.0
13 WBAR SR — 48 45 93 11.0 82.0
14 WHFRAK 48 47 95 12.0 83.0
15 HPE KRR 45 50 95/ 11.0 84.0
16 ‘=9t 46 44 90 0 85.0
17 EPFA 48 45 93| 7.0 86.0
18 PHkTE 53 42 95, 9.0 86.0
19 MEHEZ 47 52 99| 12.0 87.0
20 EFNELE 49 51 100 13.0 87.0
21 AT 50 53 103 16.0 87.0
22 ARk 49 52 101 10.0 91.0
23 HERIS— 52 58 110/ 19.0 91.0
24 VEHER 60 61 121] 26.0 95.0




